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CERTIFICATE IN SHOE UPPER CUTTING

Term-End Examination
June, 2012

OET-011 : BASICS OF SHOE UPPER CUTTING

Time : 3 hours Maximum Marks : 100

Note : All questions are compulsory.

1.  Fill in the blanks : 10x1=10
(@)  The foot is composed of skeletal
bones held together by muscles.
(b) In English size scale children sizes run to
(c) Thehide of skin mainly consists of ,
layer.
(d) Common natural fibers are
() The formula of cutting value (C. V ) is

.

(f) The wastage % in D or 4 grade leather
is .

(g) The leather purchasing unit is or

h is the best quality region of the
leather.

(i) Cutting patterns whlch are used in hand
cutting are generally made up of

material.
() Dies or knives on the basis of edges are
and
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2. Maich the following : - 10x1=10

Column A Column B
(a) Paris point (i)  1.27(25+English Shoes
size)
(b) Layout (i) Cover the front of the
shoes

(c) Lather well (ili) Walking surface of heel

(d) Planimeter (iv) Conversion of raw H/S
into preserved form

(e) Tablerun (v) Tannery’s Method of
grading

(f) Tanning (vi) Instrument used for

‘ measuring area

(g) Vamp (vi)) Nesting of Pattern of
leather

(h) Full grain (viii) Grain is clearly visible

leather
(i) Medium  (ix) used for cutting thick
curve blade leather

(j) Top piece (x) Area where clicker place
leather

3.  State True (T) or false (F) in the following : 10x1=10

(@) English men’s size eight is equal to French
42 size.

(b) Saddles reinforce the shoes from the throat
area.
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(c)

(d
(e)

®

Toe puff is a stiffener material used in back
part of shoes.

Shank is placed in the outer sole.

The percentage of protein content in hide
and skin is 60 to 70%.

Post tanning operation of hide and side are
called crust.

The C or 3 grade leather have the cutting
value of 91 to 87%.

Dry and wet rub tests are done on leather
to check the finish.

Sorting is done on the basis of size of skin.

The lasting allowance in leather upper is
13-15 mm.

4.  Write short notes on any five of the following :

(8
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Bottom components of shoe. 5x10=50

Vegetable tanning

Synthetic material used for shoes making
Leather sorting

Nesting on corrected grain leather.

Type of dies used for machine cutting

Parts of the clicking press machine
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5.  Answer any one of the following : 1x20=20
(a) Expl.ain the various materials used for
making different types of shoes.
(b) Explain different methods of leather
grading.
(c) Describe the different types of leather based
on grain structure.
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S[d T 3T @l HKieT W gomor-ux
wAq qaaT
S, 2012
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THY : 3 FqU2 SfYFHTH 3F 1100
T G g & I o T &1
1. T el &1 gfd e ;- 10x1=10
(@) WeHfmm___ | =gl v et
& G A R
b) AT FER F AT ¥ I= F R A
qad gl
(c) fe=m3 =1 s qemas:
, , O &t S Bt #
) m%xr'rmst@haﬁ@r 2l
(e) T qea (WAt) &1 wigen i
() D3R4ads wms ¥ = % gl
(g) T9S HI GG HI & &R
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(i) He Yo, W ww | FFE A yam fEd 9w ®

aEEEE:  efe % 99 ' R
) SRS Ees ¥ AR o SR W
dR___ R
2. Treafafaa w1 faem &2 :- 10x1=10
HiAq 37 HAA
@) dfgwr= (O 1.27(25+37s0 7 AHR)
(b) wammee (i) 37 =T 37T 9T

(€) aeT 3« (i) et % o™ 1 A
(d) e (V) %= H/S o1 Same wEd

®Y T
(€) e&a & (v) e B AT @ Al R
(f) fw (Vi) g & W SR e T
(&) dm (vil) =g & Yo =t AL

(h) 5 3 wwer (vild) 37 qoiqan e 2t R
() gemed () O 9w = FE0SF Ay

=g w4 B T
() =fu g (x) o7 & S iR THS Tl
T

3. freafafag 9 98 gar Tad &1 996 10x1=10
(a) sfier arew fawen & STedt 18 WEw %d &
42 ORS ¥ W B &1
b) R F Yooy, T & &7 B JeTRE @ T
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(€) 3 IF TF LFETH IR 8 M I & fysd wm
T wan e S R

() ¥ e B feera i &

() M wt v F A wwe iR few F 60 A
70% et @1

()  TES SR TES H MR T AR FE FHeerd
I

(g) Ca137s IMS & T &1 9eg 91 9 87% el
g

(h) @ iR T &1 @ Thaw 9we &1 el =
I FA & fod o s 1

() T F PR & YR T TR Bt 5

) LT STEARH 13-15 mun BT B |

4. Freafafea ¥ 3 fedl uie = e fag - 5x10=50
(a) S W Fed FEAZH
(b) asifem

c) @ s % foy faafes fefaa w1 w@m

d) et Eifén

(e) RS UT THS W AT

() TN BT % wEm F A 3% F yER

(g) fafs 99 w9l & WM

)
)
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5. fr=fafas 9 @ & & &1 sw | - 1x20=20

(@) Tafys TR & @ 9 A 79T AR o fafie
IAIGT T FUH H |

(b) <X Afew & fafis @l =1 avlw Hifaw)
() T EFR & MYR W T9S & YHRI 1 AT
HIfST
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